INSTALLATION INSTRUCTIONS

EHS5PA-AQ5
EHSPA-A10
EHSPA-A1S
EHSPA-A20

MODELS

EHSPA-B09
EHS5PA-B12
EHSPA-B1S
EHS5PA-B18

EHSPA-C09
EHSPA-C12
EHS5PA-C15
EHSPA-C18

OPTIONAL ELECTRIC HEAT PACKAGES

- FOR USE WITH
3.5, 4, AND 5 TON PACKAGED UNITS

MANUAL 2100-096 REV. E
SUPERSEDES REV. D
FILE voL. II, TAB 12




COPYRIGHT AUGUST, 1989
BARD MANUFACTURING COMPANY
BRYAN, OHIO




LB Reoe
N Y £
-t Py ’ ‘

e




IMPORTANT

The equipment covered in this manual is to be installed by trained,
~experienced service and installation technicians. : :

SHIPPING DAMAGE

Upon receipt of equipment, the carton should be checked for external
signs of shipping damage. If damage is found, the receiving party must
contact the last carrier immediately, preferably in writing, requesting
inspection by the carrier's agent. - -

UNPACKING THE HEAT PACKAGEl

Remove the heat package from the shipping carton. The heat package-
must consist of the following: (See Figure 1)

1. Basic heater enclosure with controls and installation instructions.

2. Plastic bag containing (1) 230V terminal block; (1) grounding lug; (4)
#10-16 x 1/2" screws; (2) #8-16 x 1" .screws;(1) #10-24 x 1/2" screw;
and (1) wire tie,

INSTALLATION ‘ e

Disconnect all power supplies to the air conditioner or heat pu Remove
the control panel service door. Remove the four (4) #10-16 x 1/2" screws
which secure the electric heat cover plate. Remove the electric heat cover
plate from the blower partition and discard. Carefully insert heater
package through the opening, provided in the blower partition. Guide the
heater package into the opening being careful to align the locating pin(s)
of the heater(s} in the dimpled holes provided in the rear of the blower
partition. Line up the four (4) holes in the heater control panel with the
four (4} prepunched holes in the blower partition and secure the heater

package to the blower partition with the four (4) #10-16x1/2" screws
provided.

WIRING CONNECTIONS

circuit by plugging - in..the:plastic: snap:lock:fitting into :the-mating “fitting
located on the rear of the control panel.

IMPORTANT: A separate power supply must be provided for use with
any optional heater package. DO NOT attempt to
connect a heater package with a basic unit to a singte
power supply.

+:Connect the ‘wires ‘exiting ‘the -bottom'of ‘the’heater package into the unit =



I
il




W s B kb, ot g,
hae.m%m‘n‘m‘m‘-

ez

HELESRY TAL SI0LT) Trsing

SIFNK GAMMALN 145 T




b

Remove the unit control panel cover and the inner 4-1/4" x 7-3/4" cover.

. By removing this cover an isolated area is exposed. Install the high

voltage terminal block. Use the two (2) #8-16 x 1" screws. Install the

grounding lug, using the two (2) -#10-24 x 1/2" screws into the
prepunched holes supplied. : :

Route the line voltage power circuit wires from the heater package through

the bushed hole in the control panel to the newly installed high voltage
terminal block.

Inspect all wiring for damage and secure any loose wiring with the
enciosed wire ties. See Figure 3 for completed assembly. Replace the
terminal block cover, control box cover and blower service door.

Energize both power supplies and check for proper system operation.




S

T2 L e it T

e e Y £ ey

Heater Package
Terminal

R Block ——\
;

@ QG

YO,

® G

6 pin connector

{1tz mating connec

on matching alr cand,

or heat pump medel) z@ @

Limit

)?- —*—feating Blower Relay
I

tor

‘I‘ﬁermal
Cut-off

9l el

' qﬂ‘.ﬂ

e, B

Heater
Contactor

Electric
Heater

g~

These components field [ A This heater packag_e consists of the following:

mounted in control
Panel of unit.

m.-230V Heater
Terminal Block

240720860~

-8
-1

USE COPPER OR
ALUMINUM WIRE

{1} Basic heater packaga.

(1) Terminal Block (Cat. No. EB or 11993),
(1) Listed Ground Terminal *6-12:AL, 6-<14 CU. .

Refar to the héat package instructions
installation. ’

*§0HZ application not UL, Listed

240/220-50-1* FACTORY WIRING

Low Voltage
High Voltage e

FiELD WIRING

for proper

[4068-110¢




o it s, g e 3 P ®

g

Heater Package

1
®

@

Heating Blower Relay

D26,

SN

® G

6 pin connector

(fits meting connector - GD I—-————_
on matching air cond,

or heat pump model)

Limit

OO
Heater
% Contactor
566
Thermal Blectric
Cut~aff Heater

Refer to the heat package instructions for proper

Terminal
Block \
en g0
Ckt.B
- /A Th t ' ' ;
| These components £ieldk & is heater package consists of the following:
Ckt.B mounted in control : (1} Basic heater package.
Equip. " panel of unit. -{1) Terminal Block (Cat.No. EB or 11593),
Ground (1) Listed Ground Terminal 6-12AL, &-1% CU,
o230V Beater : *S0HZ application not U.L, Listed
Terminal Block #
| i ‘ i ; installation.
:  —
i 3

! ! i
= ] l '
= " USE COPPER OR

= Y \ . ALUMINUM WIRE

240/208-60-1 "
| 240/220-50-1 * FACTORY WIRING  FIELD WIRING
Low Voltage e
High Volloge mmmmes e e sws s

[4068 - 120




ar
@

oUo

@

4
Ty pwﬂeating Blower Relay

Limit ;
6 Pin Connector 2
{flts mating connector GD :
on matching alr cond. K
or heat pump madal) @ @ Heater @ @""
> P
' % Contactor _
Q0| AOC "
P
Thermal Electric
Heater Package Cutroff ' Heater
Fuse Block
J \
% N @
n
Fuse A - 60A Standard  Class K-5
- c -
bt Ckt.B Fuse B ~ 30A Standard laes K-5
! This heater package consists of the following:
These components fieldfl
"'/ mountea in control : (1) Basic heater package.
Equip. Ckt.B panel of unit. ' {1) Terminal Block ({Cat.No. EBor 11593},
Ground f {1) Listed Ground Terminal 6-12 AL, 6-14 CU,
H
4 D:@] D:@:D LL L Refer to the heat package instructlons for preper installation,
230V Heater 3 '
: i Terminal Block : & 2nd heat contactor operates only during emergency heat
{ 1 : B or compressor cut-off.
{ I i
. T ¥ o
o, ! 1 i *50HZ application not U.L, Listed
== I I '
= v ? USE COPPER OR

240/208~60-1
240/220-50-1 %

ALUMINUM WIRE

FACTORY WIRING FIELD WIRING

Low Voltage
High Voltogs wmumam s s wet v

o vy o— —

[4068-130¢




® G}

Heater Package
i Fuse Block

Do
+0 &

~e—Heating Blower Relay

6 Pln Connector
(fits mating connector
on matching air cond. -
-or heat pump model)

Limit

®

1

+ (T2) {T1)| Heater @@"‘"
% Contactoy - §
00, ATFQO

A .

s mounte
Gnans,~ Texes || panel
[t} (el

i \ZJDV Heater
i
* —
| |
i

280/208-60-1
240/220-50~1 *

—— These components field

Terminal Block

Thermal-

Electric
Cutkoff

Heater

Fuse A & B - 60A Standard Closs K~5

é 2nd heat contactor opera

USE COPPER OR
ALUMINUM WIRE

FACTORY WIRING  FIELD WIRING

‘[Low Veltage o o i g
High VG"OQC L

This heater puckage_cnnsists of the following:

{1) Basic heater package,

in control

of unit. H {1). Terminal Block.(Cat. No.
: (1) Listed Ground Terminal &-

*50HZ application not U,L, Listed

EB or 11593),
it ’ 12 AL, 6-14 cu,
Refer to the heat package instructions for praper installation,

tes only during emergency
heat or compressor cut-off.

KH068-140 ¢




t
3 : :
) , . 4 :
. {1 Heating ;
’ @ @ =5 ower :
i1 @ @ - ( : ; Relay .
oo ‘
. 6 Pin Connector . i
(fits mating connector Limit :
{ on matching alr cond. GD ;
! del} 7
d or heat pump model} Heater Contactor
i
!
60 -
i !
: \@ &
& ,
! l '
)
Thermal . - 1
! Cutoff: :
9Kw
i Electric Heater ]
[} i
- Heater Package
B U@B U@]' [:[@:l Terminal Block
+ ¥
B LL3 LL2 Li
) Ckt.B
! These components f This heater package consist :
: field mounted In & ! package consists of the following:
: ’ control panet of
. Ckt.B unit, . {1} Basic heater packege .
- 0 230V Heater (2) Terminal Block (Cat. No. ERB or 11993)
il [I@:] [:[@D E@] Terminal Block r. £3) Listed Ground Terminal 6-12 AL, 614 CU
;- ' _i
: H *SOHZ applicatfon not U.L. Listed

g Equip,
: Gﬁound %

o] “!

....q-_—._.....—.—-—

280/208-60-3
USE COPFER OR 240/220-50-3 *
ALUMINUM WIRE ‘

FACTORY WIRING  'FIELD WIRING

Low Vollage - .
High Volloge smemme e =t w vz _

‘ 4060-230 E )

- — o —




? Equip,
i Ground

3

@ O}
®®
® G}

1( .@
7

6 Pin Connector

(fits mating connector
on matching air cond.
or heat pump modal}

ON

Heating
8ower
Relay

2 Hester Contactor

I

160

L2} 21

A

12 or 15Kw
Electric Heater

L@t) Ul ] Ll

Heater Package

Terminal Block
LL3 LL2 [XE]
Ckt.B
These components | A\ This
field mounted Ih ¥
control panel of |}
Ckt.B unit, " n
230V Heater ] {;;
D@D Terminal Block §

Basic heater package
Terminal Bleck {Cat, No. ERB or 11993}
Listed Ground Terminal &-12 AL, 6-14 CU

heater package consists of the following:

i Aﬂefer to the heat package Instructions for proper
: instailation. 2nd heater contactor cperates only during

emergency heat‘or compressor cutoff.

. 4

USE COPPER OR
ALUMINUM WIRE

-

e v sl — v—— v—
e o ] — e onal

-240/208-60-3
Z40/220-50-3 *

FACTORY WIRING

Low Vollage m—imie — o oo
[High Volioge ermcems  men v e wem

'FIELD WIRING

*50HZ application not U,L, Listed

[woss-220 ¢ |




-T® @

1 @

5@
(1 teating

rowBlOWER

Relay-

® Q)

6 Pin Connector

{flts mating connector
on matclding air cond,
or heat pump model)

,)Um!.t/(

Heater
Contactor

< —

Equip,
Gaound

QO ——Ll®
1
B @ 0 "‘@ i
i )
Thermal
Cutoff

9Kw !
Etectric Heater ;

‘{1

Terminal Block

Ckt.B

These components § & This heater package consists of the following:

field mounted In
control panet of
unit,

230V Heater
Terminal Block

USE COPPER OR
ALUMINUM WIRE

A wim | — —T
i p— — i p— 2

" 240/208-60-3

200/220-50-3 %

FACTORY WIRING'

Low Vollage ———i  wem e e e

'FIELD WIRING

}ﬁgh VD"QG. emmeiy Y b w0

._# —— ycieer ] — — p—

; Heater Package

i /2\ Refer to the heat packaga Instructions for proper

(1) Basic heater package
(2} Terminal Block (Cat. No, ERB or 11993)
(3} Listed Ground Terminal 6-12 AL, 6-14 CU

Inataliation, 2nd heater contactor operates only
during emergency heat or compressor cutoff,

*50HZ application not U.L. Listed

230 E

4068




@ O}
[0)O;

(1 =—lleating

Blower

® Q—
6 Pin connector

(fits mating connector
) on matching air cond.,
or heat pump. model)

Cjim'l ¢

Relay

/Heater Contactor

Thermal
Cutoff.

\SKW

Efectric Heater

Heater Package
Terminal Block

Thesa components
fiald mounted In }
controt panel of

?.
|
Y
460V Heater I
Terminal Block ¥

LL3 L2 LLl

Ckt.B

Ckt.B unit,
e (1el) [Tl

v

Equip,
ki Ground @

P e

|
v |
T

USE COPPER OR
ALUMINUM WIRE

FACTORY WIRING  FIELD WIRING

e e

Low Vollage o  —osm o e
High Vollage semmmms o e m e

A\ This heater package consists of the follewing:

(1) Basic heater package

{2) Terminal Block (Cat. No. ERB or 11553)
(3 Listed Ground Terminai 612 AL, 6-14 CU

‘ 4068-310 C




1
i :
! '
: t
‘ ‘ 3 i
Tz a ]
(@ Heating i
i @ @ >~ BYower f
¢ : Relay: .
: ® @ @5] * |
; ® @} ']'
! 6 Pin Connector E
' {fits mating connector Limit i
i on matching air cond, = ‘
; or heat pump modal) - Heater Contactor B
M . 1
!

‘. . Thermal
; Cutoff
l. :| 5%9\4\‘““““'
:
i : :
| E 3 c ;
K - 12Kw or 15Kw ;
g 3 Electric Heater :
! :
i ;
| 7_
* []QED G?i[] M Heater Package :
! Terminal Block !
LL3 LLZ LL :
: ‘
( Ckt.B
| I,Z,";"mﬁﬂﬂ{’:‘;“’,',‘," 1 /\ This heater package consists of the following:
i control panel of i
i unit, §
1 = ks B - § (1) Basic heater package
: D@D U@"ﬂ 460V Hester |} (2} Terminal Block (Cat. No. ERB or 11993)
Terminal Block M (3} Listed Ground Terminal 6-12 AL, 6-14 CU
3 i | H |

3
g Equip, ‘ l I i
; Ground I l I f
I : ; - . - .

1 l '
T f

USE COPPER OR
ALUMINUM WIRE

FACTORY WIRING  FIELD WIRING

[LE

—— —— qo—

Low Voltage

High Vollage sammeme e wm wm = [wo6s-320 c |



@ @
®®
® @

6 Pin Connector

{fits mating connector
an matching alr cond.
or heat pump mode)

—-Heating

Biower
Relay

/]2 Heater Contactor

7

Equip,
Ground

0G0

Lall {alf Lol

Heater Package
Terminal Block

LL3 LL2 LLY

Ckt.B

R RGN

Ckt.B

tel el e

These components] A1\ * This heater package consists of the following:

field mounted in
control panel of
unit,

460V Heater
Terminal Block

T

. I

— — o—— i u—
e — — — —

. u8p-60-3°
USE COPPER OR
ALUMINUM WIRE
FACTORY WIRING  -FIELD WIRING

Low Yolloge —

High Voltapo memmme  w ve ot oo

| A

\ IKw

Efectric Heater

(1) Basic heater package
{2} Terminal Block {Cat. No. ERB or 11993)
(3} Listed Ground Terminal 6-12 AL, 6-14 CU

Refer to the heat package instructions for proper
Instaliation. 2nd heater contactor operates only
during emergency heat or compresscr cutoff,

4068-3319 €



